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( 10 ) ) , i ¢+ Suppose that a monopolist faces a demand curve of D(p) = 10-p and
“has a fixed supply of 7 units of output to sell. What is its profit-maximizing

" price and what are its maximal profits?

(l 0 ﬁ)z° The marginal propensity to save is given by dS/dY =0.5~02Y"" There is dissa;ring
of 1.5 when income is 25,ie. S=-35 when Y = 25. Find the savings function.

P .
U 0’7). 3- Find the demand function Q =f(P) if point elasticity, e, is — 1 forall P >0,

( ;/i) .4- Marginal cost is given by MC= dTCldQ =25 + 30Q -9Q%. Fixed cost is 55. Find
the (a) total cost, (b) average cost, and (c) variable cost fuactions.
(/5/5) s A monopolistic firm has the following demand functions for cach of its products x and y:
x=72-0.5p,
y=120-p,

The combined cost function is ¢ = x?4 xy+y'+35 and maximum joint production is 40.

Thus, x+y=40. Find the profit-maximizing level of (a) output, (b) price, and
(c) profit. i
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